
A10 (mod 2)

blocks defect matrix

2.G : 1 8 28× 7
2 3 7× 3
3 1 2× 1
4 1 2× 1

Block 1: ϕ1 ϕ2 ϕ3 ϕ4 ϕ5 ϕ9 ϕ10

11 = χ1 1 . . . . . .
91 = χ2 1 1 . . . . .

351 = χ3 1 1 . 1 . . .
361 = χ4 2 1 . 1 . . .
421 = χ5 . . 1 1 . . .
751 = χ6 1 . . 1 1 . .
841 = χ7 2 1 . 1 1 . .
901 = χ8 . . 1 1 1 . .
1261 = χ9 2 1 1 2 1 . .
2101 = χ11 2 1 . . . . 1
2251 = χ14 1 . . 1 . 1 .
2521 = χ15 2 1 1 1 . . 1
3001 = χ17 2 1 1 1 1 . 1
3151 = χ18 1 . 1 2 1 1 .
3501 = χ19 2 1 1 3 1 1 .
4501 = χ22 2 1 1 1 . 1 1
5251 = χ23 3 1 1 2 1 1 1
5671 = χ24 3 1 2 3 1 1 1

161 = χ25 . . 1 . . . .
481 = χ26 . . . . 1 . .
482 = χ27 . . . . 1 . .
2161 = χ30 . . 1 . . . 1
2162 = χ31 . . 1 . . . 1
3361 = χ32 4 2 1 2 1 . 1
3362 = χ33 4 2 1 2 1 . 1
4001 = χ36 2 . . . . 1 1
4321 = χ37 2 . 2 4 2 1 .
8001 = χ39 4 2 2 4 1 2 1

ϕ1 = 11
ϕ2 = 81
ϕ3 = 161
ϕ4 = 261
ϕ5 = 481
ϕ9 = 1981
ϕ10 = 2001



Block 2: ϕ6 ϕ7 ϕ8

1601 = χ10 . . 1
2241 = χ12 1 . 1
2242 = χ13 . 1 1
2881 = χ16 1 1 1

641 = χ28 . 1 .
642 = χ29 1 . .

4481 = χ38 1 1 2

ϕ6 = 641
ϕ7 = 642
ϕ8 = 1601

Block 3: ϕ11

3841 = χ20 1

3843 = χ34 1

ϕ11 = 3841

Block 4: ϕ12

3842 = χ21 1

3844 = χ35 1

ϕ12 = 3842


